




ELEMENTARY MATHEMATICS 



Marking System in CDS 2 2024 Mathematics Paper

• Total no. of Questions = 100

• Total no. of Marks = 100 marks

• 1 Question = 1 marks

• Negative marking = 0.33 marks for every incorrect answer
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A sum of ₹ 25 was paid for a work which A can do in 32 days, B in 20 days, B 

and C in 12 days and D in 24 days. How much did C receive if all the four work 

together?

A. ₹ 14/3 

B. ₹ 16 / 3 

C. ₹ 5  

D. ₹ 17/3
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Four equal discs are placed such that each one touches two others. If the 

area of empty space enclosed by them is 150/847 square centimetre, then 

the radius of each disc is equal to

A. 7/6 cm 

B. 5/6 cm  

C. 1/2 cm  

D. 5/11 cm
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PHYSICS 



Marking System in CDS 2 2024 GK - Physics Section

• Total no. of Questions = 9 – 11 / 120

• Total no. of Marks = 10.8 – 13.2 marks

• 1 Question = 1.2 marks

• Negative marking = 0.4 marks for every incorrect answer



Which of the following statements is true about convex lenses?

A.  They diverge light rays. 

B.  They form real and inverted images. 

C. They have negative focal lengths. 

D. They are thicker at the edges than at the center.
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What is the SI unit of power ?

A. Watt 

B. Joule 

C. Ampere 

D. Volt
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Sound and light waves are

A. respectively longitudinal and transverse in air 

B. respectively transverse and longitudinal in air 

C.  both longitudinal in air

D. both transverse in air
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What is the formula for Ohm's law?

A. V = IR

B. V = I / R

C. I = VR

D. R = V / I
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Which of the following is a scalar quantity?

A. Distance 

B.  Velocity 

C.  Acceleration 

D. Force
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What is the SI unit of frequency?

A. Hertz 

B.  Pascal 

C. Newton 

D. Coulomb
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Which of the following statements is true about electromagnetic waves ?

A. They require a medium for propagation. 

B. They are transverse waves.

C.  They have low frequencies.

D.  They travel at speeds faster than light.
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The property of a body to resist any change in its state of rest or uniform 

motion is called

A. Inertia 

B. Gravity 

C. Friction 

D. Momentum
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The energy possessed by a body due to its motion is called

A. Potential energy 

B. Kinetic energy 

C. Mechanical energy 

D. Thermal energy
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The velocity of light in a medium with a refractive index of 1.5 is:

A. 3 x 108 m/s

B. 2 x 108 m/s

C. 2.5 x 108 m/s

D. 4 x 108 m/s
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The weight of an object of mass 10 kg on the surface of the Earth is 

approximately

A. 10 N 

B. 50 N 

C. 100 N 

D. 150 N
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The power of a lens of focal length 10 cm is

A. 0.1 dioptre

B. 1 dioptre

C. 10 dioptre

D. 100 dioptre
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Which law states that every object will remain at rest or in uniform motion 

in a straight line unless compelled to change its state by the action of an 

external force?

A. Newton's first law of motion 

B. Newton's second law of motion 

C. Newton's third law of motion 

D. Kepler's law of motion
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Which of the following is not a form of electromagnetic radiation?

A. X-rays 

B. Gamma rays 

C. Sound waves 

D. Ultraviolet rays
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What is the formula for Newton's second law of motion?

A. F = ma

B. F = mg

C. F = m/g

D. F = mv
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The phenomenon of mirage is due to

A. Reflection 

B. Refraction 

C. Dispersion 

D. Polarization
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The device used to measure electric current in a circuit is called

A. Ammeter 

B. Voltmeter 

C. Galvanometer 

D. Rheostat
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The power dissipated by a resistor of 10 ohms when a current of 2 

amperes flows through it is

A. 40 W 

B. 20 W

C. 5 W 

D. 4 W
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The work done by a force on an object is zero if:

A. The object moves in the direction of the force 

B. The force and displacement are perpendicular to each other 

C. The force and displacement are in opposite direction 

D. None of the above
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Marking System in CDS 2 2024 GK Paper

• 1 Question = 0.83 marks

• Negative marking = 0.27 marks for every incorrect answer

• Total no. of Questions = 120

• Total no. of Marks = 100 marks



Q) Which Of The Features Is NOT The Basis For The Broad Classification Of 

Animalia?

a) Levels of organization

b) Symmetry

c) Locomotion

d) More than one of the above
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Q) Presence Of Notochord, Is The Distinctive Feature Of Which Of The Following

Phylum?

a) Annelida

b) Chordata

c) Echinodermata

d) More than one of the above
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Q) Prawns And Butterflies Belong To The Same Phylum Because Of The Presence Of 
_______.

a) bilateral symmetry

b) jointed legs

c) antennae

d) segmented body
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Q) Which Part Of Nephron Is Responsible For Making The Urine Concentrated

(a) The descending limb of loop of Henle

(b) Collecting Duct

(c) The ascending limb of loop of Henle

(d) Both 1&2
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Q) The Major Excretory Product In Human Beings Is:

a) Urea

b) Ammonia

c) Uric acid

d) Ammonium chloride
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Q) Dendrites And Axons Are Parts Of Which Cell?

(a) Red blood cell

(b) Neuron

(c) Nephron

(d) White blood cell
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Q) The Largest Gland In Human Body Is

a) Pancreas

b) Liver

c) Salivary gland

d) Adrenal gland
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Q) Which Is The Smallest Gland In Human Body.

a) Parotid gland

b) Apocrine sweat gland

c) Pineal gland

d) Ebner’s gland
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Q) Coronary Artery Disease (CAD) Is Often Referred To As

a) Heart failure

b) Cardiac arrest

c) Atherosclerosis

d) Angina
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Q) Rh Factor Is An Antigen Situated On The Surface Of ______.

a) Platelets.

b) Lymphocytes

c) Red Blood Cells

d) White Blood Cells
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Q) Spot the odd one out from the following structures present in Human female

reproductive system

a) antrum of tertiary follicle

b) acrosome

c) fimbriae

d) cervix
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Q) In Which One Of The Following, Methanogens, Methane Producing Bacteria

Are Not Present ?

(a) Rumen of cattle

(b) Aerobic environment

(c) Anaerobic sludge

(d) Excreta of cattle
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Q) Malarial Parasite Is A

(a) Bacteria

(b) Protozoa

(c) Virus

(d) Fungus
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Q) It Is Difficult To Kill Viruses Because They

(a) Consist of tough protein coat

(b) Are very small in size

(c) Lack cellular structure

(d) Spend a lot of time inside the host’s cells

Maha Marathon 1 (GS) - CDS 2 2024 - Live Class



Q) It Is Difficult To Kill Viruses Because They

(a) Consist of tough protein coat

(b) Are very small in size

(c) Lack cellular structure

(d) Spend a lot of time inside the host’s cells

Maha Marathon 1 (GS) - CDS 2 2024 - Live Class

Ans: (c)



Q) The Genetic Material Of Bacteria Is Found In

(a) Nucleus

(b) Cytoplasm

(c) Cell membrane

(d) ribosome
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Q) Why Does The Female Mosquito Suck Blood?

a) For spreading Malaria

b) For generating infection

c) To save her own life

d) To reproduce eggs
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Q) Why Does The Female Mosquito Suck Blood?

a) For spreading Malaria

b) For generating infection

c) To save her own life

d) To reproduce eggs

• The female mosquito requires blood to produce eggs. Her mouthparts are 

constructed so that they pierce the skin, literally sucking the blood out.
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Q) Select The Incorrect Statement With Reference To The Collenchyma :

a) Chloroplasts may be present in collenchyma.

b) Collenchyma allow easy bending without breakage of the young stem.

c) Its cells are thickened at the corners due to deposition of lignin.

d) Protoplasm is present in collenchyma.
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Q) Which Permanent Tissue Makes The Plant Hard And Stiff?

a) Chlorenchyma

b) Collenchyma

c) Parenchyma

d) Sclerenchyma
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Q) Which One Of The Following Statements Regarding Post-fertilization 
Development In Flowering Plants Is Incorrect?

a) Ovary develops into fruit

b) Ovules develop into the embryo sac

c) Central cell develops into endosperm

d) More than one of the above
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Q) Which Of The Following Orders Of Food Chain Is Correct?

a) Herbivorous, Omnivorous, Carnivorous, Detrivorous

b) Omnivorous, Herbivorous, Carnivorous, Detrivorous

c) Herbivorous, Omnivorous, Detrivorous, Carnivorous

d) Herbivorous, Carnivorous, Omnivorous, Detrivorous
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Q) Which Of The Following Household Items Contains Sulphuric Acid?

a) Battery

b) Vinegar

c) Toothpaste

d) More than one of the above
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Q) Which Acid Is Present In Tamarind?

a) Tartaric acid

b) Citric acid

c) Acetic acid

d) More than one of the above
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Q) Which Type Of Medicines Are Used For Treating Indigestion?

a) Antibiotic

b) Analgesic

c) Antacid

d) Antiseptic
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Q) Which Acid Does An Ant Sting Possess?

a) Methanoic acid

b) Oxalic acid

c) Lactic acid

d) Citric acid
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Q) Which One Of The Following Is A Heterogeneous Mixture?

a) Hydrochloric acid

b) Vinegar

c) Milk

d) Soda water
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Q) Which One Of The Following Is A Heterogeneous System?

a) The cooling fluid in a radiator

b) Atmospheric air

c) Cooking gas in a cylinder

d) A mixture of ice, water and steam
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Q) Which Of The Following Metals Does Not Form Amalgams?

a) Zinc

b) Copper

c) Magnesium

d) Iron
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Q) Which Gas Is Typically Produced When Metal Reacts With Acids?

a) Carbon dioxide

b) Oxygen

c) Hydrogen

d) Nitrogen
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Q) Which Of The Following Electronic Configuration Obeys Hund's Rule?

a) 1s2, 2s2, 2px2, 2py1, 2pz1

b) 1s2, 2s2, 2px2, 2py2, 2pz0

c) 1s2, 2s2, 2px2, 2py1, 2pz0

d) More than one of the above
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Q) Who coined the word ‘atom’?

a) Democritus

b) Thomson

c) E Rutherford

d) John Dalton
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Q) Who Was The First To Propose Atomic Theory?

a) J.J. Thomson

b) Rutherford

c) John Dalton

d) Neils Bohr
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Q) One Of The Important Postulations Of Dalton's Atomic Theory Is:

a) an atom is made up of electrons, protons and neutrons

b) atom can be neither created nor destroyed

c) atoms of the same element are not alike

d) all elements are available naturally as atoms only
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Q) Contact lenses are made from

(a) Polyvinyl chloride

(b) Polystyrene

(c) Lucite

(d) Teflon
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Q) Which One among the following metals is used for making boats because it

does not corrode by seawater?

(a) Tungsten

(b) Nickel

(c) Antimony

(d) Titanium
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Q) Which One Among The Following Is A Strong Smelling Agent Added To LPG

Cylinder To Help In The Detection Of Gas Leakage?

(a) Ethanol

(b) Thioethanol

(c) Methane

(d) Chloroform
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Q) Which Of The Following Reactions Is Not Redox?

a) 2KCIO3 → 2KCI + 3O2

b) 2KBr + CI2 → 2 KCI + Br2

c) BaCI2 + Na2SO4→ BaSO4 + 2NaCl

d) More than one of the above

Maha Marathon 1 (GS) - CDS 2 2024 - Live Class



Q) Which Of The Following Reactions Is Not Redox?

a) 2KCIO3 → 2KCI + 3O2

b) 2KBr + CI2 → 2 KCI + Br2

c) BaCI2 + Na2SO4→ BaSO4 + 2NaCl

d) More than one of the above

Maha Marathon 1 (GS) - CDS 2 2024 - Live Class



Q) Which One Of The Following Statements Is NOT Correct For The Given Reaction?

Fe(S) + CuSO4(aq) → FeSO4(aq) + Cu(s)

a) Iron is the reducing agent

b) The solution turns green in colour after the reaction

c) Copper is a more reactive metal than iron

d) The reaction is an example of a redox reaction
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Q) On Exposure To Moist Air, Copper Gains A Green Coat On Its Surface Due To 

The Formation Of Which One Of The Following Compounds?

a) Copper carbonate 

b) Copper oxide

c) Copper sulphate

d) Copper nitrate
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Q) The Oxidation Number Of An Element In A Compound Is Evaluated On The Basis Of 

Certain Rules. Which Of The Following Rules Is Not Correct In This Respect?

a) Oxidation number of hydrogen is always +1

b) Algebraic sum of oxidation number of all elements in the compound is zero

c) An element in the free or uncombined state has zero oxidation number

d) In all compounds oxidaƟon number of fluorine is −1
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Q) The Least Random State Of The Water System Is:

(a) ice

(b) liquid water

(c) steam

(d) randomness is same
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Consider the following statements about All India Council for Technical Education (AICTE):

1. It approves new technical institutions, courses, and intake capacity, and delegates some 

powers to state governments for diploma-level institutions.

2. It is a statutory body headquartered in New Delhi with several regional offices.

Which of the above statements is/are correct??

A. Only 1 

B. Only 2

C. Both 1 and 2

D. Neither 1 nor 2

Q.

Maha Marathon 1 (GK) - CDS 2 2024 -  Live Class



Consider the following statements about All India Council for Technical Education (AICTE):

1. It approves new technical institutions, courses, and intake capacity, and delegates some 

powers to state governments for diploma-level institutions.

2. It is a statutory body headquartered in New Delhi with several regional offices.

Which of the above statements is/are correct??

A. Only 1 

B. Only 2

C. Both 1 and 2

D. Neither 1 nor 2

Q.

Maha Marathon 1 (GK) - CDS 2 2024 -  Live Class



Consider the following statements about the Speaker in Lok Sabha:

1. The Speaker is elected by a simple majority of members present in the House who cast their votes.

2. Usually, a member belonging to the ruling party is elected as speaker whereas deputy speaker is elected

from the opposition party.

3. His work and conduct cannot be discussed and criticised in the Lok Sabha except on a substantive motion.

How many of the statements given above are correct?

A. 1 and 2 only 

B. 2 and 3 only

C. 1 and 3 only

D. 1, 2 and 3

Q.
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Consider the following statements about the Volkhov River:

1. It passes through Novgorod and flows into Lake Ladoga.

2. The first hydroelectric station in the Soviet Union was built on the Volkhov River.

Which of the above statements is/are correct??

A. Only 1 

B. Only 2

C. Both 1 and 2 

D. Neither 1 nor 2

Q.
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Consider the following statements about the Greater Spotted Eagles:

1. It is smaller, paler, and more contrasting compared to the lesser Spotted eagle.

2. They have mostly vanished from western and central Europe.

3. They are listed as critically endangered by the International Union for 

Conservation of Nature (IUCN).

How many of the above statements are not correct??

(a) Only one (b) Only two

(c) All three (d) None

Q.
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Binsar Wildlife Sanctuary, recently seen in the news due to

forest fire, is situated in:

A. Bihar 

B. Chhattisgarh

C. Uttar Pradesh 

D. Uttarakhand

Q.
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Regarding the Global Gender Gap Index 2024, consider the following 

statements:

1. It is released by UN Women.

2. Six key factors are considered while calculating the index

3. India ranked first among South Asian countries.

How many of the statements given above are correct?

(a) Only One (b) Only Two

(c) All Three (d) None

Q.

Maha Marathon 1 (GK) - CDS 2 2024 -  Live Class



Regarding the Global Gender Gap Index 2024, consider the following 

statements:

1. It is released by UN Women.

2. Six key factors are considered while calculating the index

3. India ranked first among South Asian countries.

How many of the statements given above are correct?

(a) Only One (b) Only Two

(c) All Three (d) None

Q.

Maha Marathon 1 (GK) - CDS 2 2024 -  Live Class



• Iceland (93.5%) remains the world's most 
gender-equal society for the 15th 
consecutive year. It is followed by 
Finland, Norway, New Zealand and 
Sweden in the top 5 rankings. 

• India has slipped two places in the global 
rankings to 129th in 2024 from 127th in 
2023 out of 146 countries.

• Within South Asia, India ranked fifth after 
Bangladesh, Nepal, Sri Lanka, and Bhutan. 
Pakistan ranked last in the region. 

• World Economic Forum released the 
18th edition of its annual Global Gender 
Gap Report for 2024.



Under the new traffic law for hit-and-run cases, what is the increased 

maximum jail term for drivers who flee and fail to report a fatal accident?

A. 10 years

B. 5 years

C. 7 years

D. 3 years

Q.
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The recent amendment in traffic laws has increased the jail term for drivers involved in hit-
and-run cases to a maximum of 10 years, compared to the previous provision allowing up to 
two years under Section 304A of the IPC for causing death by negligence.



Which country declared the Snow Leopard as its National symbol, symbolizing 

dedication to conservation and ecological balance?

A. Kazakhstan

B. Uzbekistan

C. Tajikistan

D. Kyrgyzstan

Q.
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Kyrgyzstan declared the Snow Leopard as its National symbol, reflecting the country's commitment to 
conservation and ecological balance, with the leopard holding cultural significance in Kyrgyz folklore and 
recognized for its role in maintaining ecological balance globally.



Which state secured Geographical Indication (GI) tags for products like 

Honey, Rice, and Tangail Sarees in the National GI Drive Mission?

A. Odisha

B. West Bengal

C. Assam

D. Kerala

Q.

Maha Marathon 1 (GK) - CDS 2 2024 -  Live Class



Which state secured Geographical Indication (GI) tags for products like 

Honey, Rice, and Tangail Sarees in the National GI Drive Mission?

A. Odisha

B. West Bengal

C. Assam

D. Kerala

Q.

Maha Marathon 1 (GK) - CDS 2 2024 -  Live Class

West Bengal achieved Geographical Indication (GI) tags for various products, including 
Sundarban honey, Black Nunia rice, and Tangail, Gorod, and Kadiyal sarees, in the National GI 
Drive Mission.



Where is the Nanda Devi peak located?

A. Himachal Pradesh 

B. Uttarakhand 

C. Sikkim 

D. Nepal

Q.
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Any amendment in the Constitution of India, regarding which of the following 

subjects, needs only simple majority of the parliament? 

1. Directive principles of state policy.

2. Election of the President and its manner

3. Quorum in the Parliament

4. Creation of the Legislative Council in a State

A. 1 and 2 only

B. 2 and 3 only

C. 3 and 4 only

D. 1 and 4 only

Q.
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The amendment in the Directive Principle of state policy 

needs for a special majority of the Parliament where the 

amendment in the election of the President and its 

manner needs for a special majority of the parliament.



Who Was/Were The 10th Century Composer(s) Of The Nalayira Divyaprabandham?

A. Alvars

B. Nayanars

C. Appar

D. Sambandar

Q.
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The Nalayira Divya Prabandham Is A Collection Of 4,000 Tamil Verses (Naalayiram 

In Tamil Means 'Four Thousand') Composed By The 12 Alvars And Was Compiled 

In Its Present Form By Nathamuni During The 9th - 10th Centuries.



Which among conclusions has been derived from the debasement of the 

coins and gradual disappearance of gold coins during the post-Gupta period?

A. Commodities became cheap

B. Gold Mining was stalled

C. Money economy was gradually replaced by Barter Economy

D. There was a decline in trade

Q.
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Debasement of the coins and gradual disappearance of gold coins 

during the post-Gupta period indicates the Decline of Trade.



Which among the following play is/are written by Harshavardhan ?

A. Nagananda

B. Ratnavali

C. Priyadarshika

D. All of these

Q.
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Which gas is the second abundant gas in our solar system?

A. Nitrogen

B. Hydrogen

C. Helium

D. Oxygen

Q.
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Which gas is the second abundant gas in our solar system?

A. Nitrogen

B. Hydrogen

C. Helium

D. Oxygen

Q.

Helium is the second most abundant element in the universe. After 

hydrogen, and accounts for about 25 percent of the atoms in the universe.
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In what way does the Indian Parliament exercise control over the administration?

A. Through Parliamentary Committee

B. Through Consultative Committee of various ministers

C. By making the administration send periodic reports

D. By compelling the executives to issue writs

Q.
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• Parliament supervises the Activities of the executives with the help of its 

committees like committees on Govt. assurance, committees on subordinate 

legislation, committees on petition etc. 

• Considering the volume of legislation to be handled by the Parliament, 

committees have been established to transact a good deal of the legislation. 

Parliamentary Committees are of two kinds – Standing Committees and Ad 

hoc Committees. 

• The former is elected or appointed periodically, and they work on a 

continuous basis. The latter are appointed on an ad hoc basis as need arises 

and they cease to exist as soon as they complete the task assigned to them.
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Consider the following statements regarding Constitutional Amendments.

1. In Article 368, two methods of Constitutional Amendment are mentioned.

2. Constitutional Amendment Bill can be initiated only in Lok Sabha.

3. In case of any dispute between two Houses of Parliament on Constitutional 

Amendment Bill, Joint sitting of both houses can be summoned.

4. The President cannot veto a Constitutional Amendment Bill.

Which of the statement(s) given above is/are correct?

A. 1 and 3 only

B. 1 and 4 only

C. 2 and 4 only

D. 2, 3 and 4 only

Q.
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Consider the following statements:

1. A Constitutional amendment inserting a regulation in the Ninth Schedule can 
be challenged on the ground of violation of basic structure of the Constitution.

2. Any legislation enacted by Parliament cannot be successfully challenged for 
affecting the basic structure of the Constitution.

Which of the statements given above is/are correct?

A. Only 1

B. Only 2

C. Both 1 and 2

D. Neither 1 nor 2

Q.
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At which place is Panjshir valley situated?

A. Afghanistan 

B. Lebanon 

C. Jammu & Kashmir, India 

D. Syria

Q.
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Sandstone is a

A. Extrusive igneous rock

B. Intrusive igneous rock

C. Metamorphic rock 

D. Sedimentary rock

Q.
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Sandstone is a

A. Extrusive igneous rock

B. Intrusive igneous rock

C. Metamorphic rock 

D. Sedimentary rock

Q.

Sandstone Forms When Grains Of Sand Are Compacted Together Over 

Exceptionally Long Periods Of Time. Normally This Sand Has An 

Abundance Of Quartz But Can Also Contain Other Minerals And Materials. 
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The river “Son” is a tributary of which one of the following rivers? 

A. Ganga 

B. Yamuna 

C. Narmada 

D. Mahanadi

Q.
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Match List-I and List-II and select the correct answer:

A B C D

A. 2 3 4 1 

B. 4 1 2 3 

C. 2 1 4 3 

D. 4 3 2 1

Q.

List-I (Product) List-II (Major Producer)

A. Tea 1. Andhra Pradesh

B. Jute 2. Kerala

C. Rubber 3. West Bengal

D. Tobacco 4. Tamil Nadu
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“Kartavya Path”  Is New Name For

A. Rashtrapati Bhavan

B. India Gate

C. Rajpath

D. Vijay Chowk
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National Maritime Heritage Complex 

A. Gujarat

B. Maharashtra

C. Kerala

D. Andhra Pradesh
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Which one of the following is the correct sequence of passes when one 

travels along the Himalayas from Kashmir to Sikkim?

A. Zoji La – Nathu La – Shipki La 

B. Nathu La – Shipki La – Zoji La 

C. Nathu La – Zoji La – Shipki La 

D. Zoji La – Shipki La – Nathu La 

Q.
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What is the triangular landmass that forms at its mouth when a river splits 

into several branches just before entering the sea? 

A. Island

B. Cape 

C. Estuary 

D. Delta

Q.
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Which of the following are matters on which a constitutional amendment is 
possible only with the ratification of the legislature of not less than one half 
of the states?

1. Election of the president

2. Representation of the states in parliament

3. Any of the lists in the 7th schedule

4. Abolition of the Legislative Council of a State.

(a) 1, 2 and 3 only

(b) 1, 2 and 4 only

(c) 1, 3 and 4 only

(d) 2, 3 and 4 only

Q.
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Election of the President, representation of the states 

in Parliament and any of the Lists in the 7th schedule 

require rectification of the Legislature of not less than 

one half of the states for a constitution amendment.



Which of the following are/is stated in the Constitution of India?

1. The President shall not be a member of either House of Parliament.

2. The Parliament shall consist of the President and two Houses.

Choose the correct answer from the codes give below:

A. 1 only

B. Both 1and 2

C. 2 only

D. Neither 1 nor 2

Q.
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Art. 59 of the constitution-The president shall 

not be a member of the either House of 

Parliament or House of the legislatures of any 

state. So, both 1 and 2 are correct.



The Parliament can make any law for the whole or any part of India for

implementing international treaties?

A. With the consent of all the states

B. With the consent of majority of states

C. With the consent of state concerned

D. Without the consent of any state

Q.
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Q.
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Art 253- Parliament has power to make any law for the whole or any part of 

the country or territory of India for implementing any treaty, agreement or 

convention with any other country or any decision made at any international 

conference, association or other body without the consent of any state.



Consider the following statements and select the correct answer from the codes 

given below :

Assertion (a) : By amendment, Parliament cannot destroy the basic features of 

the Constitution.

Reason (R) : The power to amend does not include the power to abrogate the 

Constitution.

A. Both A and R are individually true, and R is the correct explanation of A.

B. Both A and R are individually true, but R is not the correct explanation of A.

C. A is true but R is false.

D. A is false but R is true.

Q.
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Constitution.

A. Both A and R are individually true, and R is the correct explanation of A.
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Rajya Sabha can delay the Finance bill sent for its consideration by the Lok Sabha for a 

maximum period of

A. One month

B. One Year

C. Seven days

D. Fourteen days

Q.
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Rajya Sabha can delay the Finance Bill sent for its 

consideration by the Lok Sabha for a maximum period of 

fourteen days.



Which one of the following is a type of igneous rock?    

A. Marble

B. Halite

C. Granite

D. Shale

Q.
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Granite is a light-colored igneous rock with grains large enough to be visible with the 

unaided eye. It forms from the slow crystallization of magma below Earth's surface.



Ozone layer, which absorbs the ultra-violet radiation, is found in which one of the 

following layers of the atmosphere?   

A. Ionosphere

B. Troposphere

C. Mesosphere

D. Stratosphere

Q.
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The ozone layer is a natural layer of gas in the upper 

atmosphere that protects humans and other living things 

from harmful ultraviolet (UV) radiation from the sun. The 

ozone layer is typically thicker over the poles than over the 

equator. The ozone layer exists in the stratosphere, a layer 10 

to 50 km above the Earth’s surface.
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Point of Origin of Earthquake Wave is known as    

A. Epicenter

B. Focus

C. Photosphere

D. Seismic Zone

Q.
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B. Focus
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The epicenter is the point on the 

earth's surface vertically above the 

hypocenter. It is also referred to as the 

point of origin of the Earthquake wave. 



The maximum depth of Lithosphere is found in the  

A. Pacific Ocean

B. Siberian Plain

C. Patagonian Desert

D. Himalayan Mountain

Q.
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The lithosphere is the solid, outer part of the Earth. The 

lithosphere includes the brittle upper portion of the 

mantle and the crust, the outermost layers of Earth’s 

structure. The deepest point of Mariana Trench is 

Challenger Deep. It is in the South Pacific Ocean and 

hence the maximum depth of Lithosphere is found in the 

Pacific Ocean.
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Who amongst the following is not entitled to take part in the activities of Lok Sabha?

A. The Comptroller and Auditor General of India

B. The Attorney General of India

C. The Solicitor General

D. The Secretary to the President of India

Q.
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A. The Comptroller and Auditor General of India

B. The Attorney General of India

C. The Solicitor General

D. The Secretary to the President of India

Q.
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The Secretary To The President Of India Is Not Entitled To Take 

Part In The Activities Of Lok Sabha. Others Can Take Part.



In which house is the presiding officer not a member of that house?

A. Lok Sabha

B. Rajya Sabha

C. Vidhana Sabha

D. Vidhana parishad

Q.

Maha Marathon 1 (GK) - CDS 2 2024 -  Live Class



In which house is the presiding officer not a member of that house?

A. Lok Sabha

B. Rajya Sabha

C. Vidhana Sabha

D. Vidhana parishad

Q.

The Vice-president Of India Is The Ex-Officio Chairman Of The Rajya Sabha.
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Which of the Following PM faced the greatest number of No Confidence Motions?

A. Rajiv Gandhi

B. Indira Gandhi

C. Lal Bahadur Shastri

D. P V Narsimha Rao

Q.
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A. Rajiv Gandhi

B. Indira Gandhi

C. Lal Bahadur Shastri

D. P V Narsimha Rao

Q.
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Prime Minister Indira Gandhi Faced The Most Confidence Motions (15), Followed By 

Lal Bahadur Shastri And P. V. Narasimha Rao (Three Each), Morarji Desai (Two), And 

Jawaharlal Nehru, Rajiv Gandhi, Atal Bihari Vajpayee, Narendra Modi (One Each).



In order to be recognized as an official opposition group in the Parliament

A. 1/3rd of the total strength

B. 1/4th of the total strength

C. 1/6th of the total strength

D. 1/10th of the total strength

Q.
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In order to be recognized as an official opposition group in the Parliament

A. 1/3rd of the total strength

B. 1/4th of the total strength

C. 1/6th of the total strength

D. 1/10th of the total strength

Q.
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Officially Opposition Group In The Parliament 

Required 1/10th  Of The Total Strength.



Rajya Sabha enjoys more power than the Lok Sabha in the case of

A. Money bills

B. Non-money bills

C. Setting up of new All India Services

D. Amendment of the Constitution

Q.
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A. Money bills

B. Non-money bills
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Rajya Sabha enjoys more power than the Lok Sabha in 

the case of setting up new All India Services.



Which of the following appointments is not made by the President of India?

A. Speaker of the Lok Sabha

B. Chief Justice of India

C. Chief of Air Staff

D. Chief of Army

Q.
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Which of the following appointments is not made by the President of India?

A. Speaker of the Lok Sabha

B. Chief Justice of India

C. Chief of Air Staff

D. Chief of Army

Q.
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Speaker Of Lok Sabha Elected By A Simple Majority In The Lok Sabha.



With reference to Sagar Parikrama, consider the following statements:

1. It is a navigation journey to be conducted only in four coastal states.

2. The aim is to achieve a sustainable equilibrium in utilising resources from marine 

fisheries.

Which of the statements given above is/are correct? 

A. 1 only

B. 2 only

C. Both 1 and 2

D. Neither 1 nor 2

Q.
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It is a navigation journey to be conducted in all coastal states/UTs 
through a pre-decided sea route to demonstrate solidarity with all 
fisherfolk, fish farmers and concerned stakeholders.



The Green Revolution in India has contributed to

A. inter-regional inequality

B. inter-class inequality

C. inter-crop inequality

D. all the above

Q.
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The Green Revolution In India Has Contributed To Inter-Regional, 

Inter-Class, And Inter-crop Inequality As Certain Regions Like UP And 

Punjab Which Used HYVs Performed Much Better Than Others And 

Become More Advanced Than Other States.



The Blue Revolution is related with

A. Fish production

B. Food grain production

C. Oilseed production

D. Milk production

Q.
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The Blue Revolution is related with

A. Fish production

B. Food grain production

C. Oilseed production

D. Milk production

Q.
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The Blue Revolution is like the green revolution as it deals 

with aquaculture, fish & water preservation for human use.

• Blue Revolution Fish Production

• Green Revolution - Food grains

• White Revolution - Milk production

• Yellow Revolution - Oil seed production
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The Minimum Support Price and procurement prices for agriculture products 

are fixed by the Government on the recommendations of

A. Competition Commission of India

B. National Development Council

C. Planning Commission

D. Commission for Agricultural Costs and Prices (CACP)

Q.
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The Minimum Support Price and procurement prices for agriculture products 

are fixed by the Government on the recommendations of

A. Competition Commission of India

B. National Development Council

C. Planning Commission

D. Commission for Agricultural Costs and Prices (CACP) (Est Jan 1965)

Q.
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MSP: form of market intervention by the GOI to insure agricultural 

producers against any sharp fall in farm prices. The minimum support 

prices are announced at the beginning of the sowing season for certain 

crops based on the recommendations of CACP.



The Hunter Commission appointed to survey the state of education in India 

was appointed by which of the following Viceroy:

A. Lord Dufferin

B. Lord Rippon

C. Lord Curzon

D. Lord Lytton

Q.
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Hunter Education Commission (1882) was a landmark commission 

appointed by Viceroy Lord Ripon with objectives to investigate the 

complaints of the non-implementation of the Wood’s Dispatch of 1854; the 

contemporary status of elementary education.



In the year 1943 Bose had established provincial government of Azad Hind 

known as Arzi Hukumat -I-Hind in _________?

A. Germany

B. Japan

C. Singapore

D. Malaysia

Q.
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known as Arzi Hukumat -I-Hind in _________?
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Q.
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It was supported by Axis powers of Japan, Germany and Italy. Under 

provincial government Bose was PM and minister of war and foreign 

affairs Rash Behari Bose was designated as supreme advisor.



Which Buddhist text contains an account of the Mauryan Emperor Ashoka?

A. Vinaya Pitaka

B. Sutta Pitaka

C. Abhidhamma Pitaka

D. Mahavamsa

Q.
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Which Buddhist text contains an account of the Mauryan Emperor Ashoka?

A. Vinaya Pitaka

B. Sutta Pitaka

C. Abhidhamma Pitaka

D. Mahavamsa

Q.
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The Mahavamsa Spoke In Glowing Terms Of An Indian King 

Ashoka Who Had Ordained His Own Son And Daughter And 

Sent Them To Sri Lanka To Spread The Buddha's Message.



Who among the following was the founder of Phoenix Settlement?

A. Mahatma Gandhi

B. R. Ambedkar

C. Rabindranath Tagore

D. Swami Vivekananda

Q.
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Who among the following was the founder of Phoenix Settlement?

A. Mahatma Gandhi

B. R. Ambedkar

C. Rabindranath Tagore

D. Swami Vivekananda

Q.
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In 1904, Mohandas Gandhi, Who Had Resided In Nearby Durban Since 

1893, Established A Small Village-like Settlement, Phoenix Settlement.



The Purusha Sukta, which refers to the origin of caste, is found in the?

A. Atharva Veda

B. Rig Veda

C. Sama Veda

D. Yajur Veda

Q.

Maha Marathon 1 (GK) - CDS 2 2024 -  Live Class



The Purusha Sukta, which refers to the origin of caste, is found in the?

A. Atharva Veda

B. Rig Veda

C. Sama Veda

D. Yajur Veda

Q.

Maha Marathon 1 (GK) - CDS 2 2024 -  Live Class

Rig Veda Purusha Sukta is the 10th Mandal of the Rig Veda that explains 

the origin of four varnas viz. Brahmana, Kshatriya, Vaishya, and Shudra.



Bhagat Singh, Rajguru and Sukhdev along with Jaigopal were involved in 

which among the following conspiracy case?

A. Kanpur Conspiracy Case

B. Lahore Conspiracy Case

C. Bhagalpur Conspiracy Case

D. Alipore Bomb case

Q.

Maha Marathon 1 (GK) - CDS 2 2024 -  Live Class



Bhagat Singh, Rajguru and Sukhdev along with Jaigopal were involved in 

which among the following conspiracy case?

A. Kanpur Conspiracy Case

B. Lahore Conspiracy Case

C. Bhagalpur Conspiracy Case

D. Alipore Bomb case

Q.

Maha Marathon 1 (GK) - CDS 2 2024 -  Live Class

To avenge the killing of Lal Lajpat Rai, Bhagat Singh, Raj guru, Jai Gopal, 

and Sukh Dev conspired to kill the police chief, Scott. But they shot the 

DSP - J. P. Saunders, who was killed on the spot. 



The British East India Company ceased to be a trading Company via which 

among the following legislation?

A. Pitts India Act of 1784

B. Charter Act of 1833

C. Charter Act of 1813

D. Government of India Act 1858

Q.
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among the following legislation?

A. Pitts India Act of 1784

B. Charter Act of 1833
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The Charter Act 1833: It Is An Attempt To Codify All Indian Laws. The 

Governor General Of Bengal Now Became The Governor General Of India.



Regarding women in the Vedic period, which of the following are correct?

1. They were allowed to study.

2. They held good positions.

3. They did not practice Purdah system.

4. They attended Sabha and Samiti.

Which of the given above statements are correct?

A. 1 and 2

B. 3 and 4

C. 2 and 3

D. All of these

Q.
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The Rigvedic society was a free society. The Aryans evidently 

preferred male children to female children. However, females 

were as free as their male counterparts. Education was equally 

open for boys and girls. Girls studied the Veda and fine arts.



With reference to the relative position of French and the Britishers on the eve of 

Carnatic wars, consider the following observations:

1. The position of the English East India Company was superior to that of the 

French East India Company

2. The Naval Power of French was superior to the British

Which among the above is / are correct statements? 

A. Only 1

B. Only 2

C. Both 1 & 2

D. Neither 1 nor 2

Q.
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The second statement is not correct because 

the sea power of the English was superior to 

that of the French. The merchant fleets of 

the English were bigger and Better.



Who was the first President of All-India Muslim League?

A. Nawab Salimullah Khan

B. Khwaja Abdul Ghani

C. M. Shamsher Ali

D. Aga Khan III

Q.
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The All-India Muslim League was established in 1906. The party was formed 

in Dhaka. Its founders include Khwaja Salimullah, Vikar-ul-Mulk, Syed Amir 

Ali, Syed Nabiullah, Khan Bahadur Ghulam, Mustafa Chowdhury, Sir Sultan 

Muhammad Shah (Aga Khan III), etc. 



Who among the following led the agitation against the partition of Bengal (1905)?

A. C.R. Das

B. Ashutosh Mukherjee

C. Ravindra Nath Tagore

D. Surendra Nath Banerjee

Q.

Maha Marathon 1 (GK) - CDS 2 2024 -  Live Class



Who among the following led the agitation against the partition of Bengal (1905)?
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Surendranath was one of the most important public leaders who 

protested the partition of the Bengal province in 1905.



Which one among the following statements appropriately defines the term 

‘Drain Theory’ (1867) as propounded by Dadabhai Naoroji in his work 

‘Poverty and Un–British Rule in India’?

A. That a part of India’s national wealth or total annual product was being 

exported to Britain for which India got no material returns

B. That the resources of India were being utilized in the interest of Britain

C. That the British industrialists were being given an opportunity to invest in 

India under the protection of the imperial power

D. That the British goods were being imported to India making the country 

poorer day by day

Q.
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Which one of the following is the correct chronological order of the freedom 

movements of India?

A. Quit India Movement, Non-Cooperation Movement, Civil Disobedience 

Movement

B. Non-cooperation Movement, Civil Disobedience Movement, Quit India 

Movement

C. Quit India Movement, Civil Disobedience Movement, Non, Cooperation 

Movement

D. Non-Cooperation Movement–Quit India Movement– Civil Disobedience 

Movement

Q.
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Arrange the following in chronological order

1. Partition of Bengal

2. Chauri Chaura Incident

3. First Round Table Conference

A. 1, 2, 3

B. 3, 2, 1

C. 1, 3, 2

D. 2, 1, 3

Q.
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The partition of Bengal took place on 16 October 1905. The 

Chauri Chaura incident occurred at Chauri Chaura in the 

Gorakhpur district of the United Province, British India on 5 

February 1922. The first-Round table conference was opened 

officially by King George V on November 12, 1930, in London.



The famous books “The Communist Manifesto” (1848) and “Das Kapital” 

(1867-1894) were written by?

A. Lenin

B. Karl Marx

C. Mao Zedong

D. Friedrich Engels

Q.
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Karl Marx was a German philosopher, economist, sociologist, journalist, 

and revolutionary socialist. His famous books are The Communist 

Manifesto(1848) and Das Kapital (1867-1894). According to him, History is 

a succession of struggle between the oppressor and the oppressed classes.



Non-cooperation began in Punjab with the student movement inspired by 

__________ in January 1921.

A. Lala Lajpat Rai

B. Prithvi Singh Azad

C. Sohan Singh Bhakna

D. Saifuddin Kitchlew

Q.
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The Educational boycott was particularly successful in Bengal under the 

leadership of Chitta Ranjan Das and Subhas Chandra Bose. Punjab, too, 

responded to the educational boycott and Lala Lajpat Rai played the leading role.



Who among the following were the most vocal opponents of Ilbert Bill?

A. Zamindars of Bengal & Bihar

B. Advocates and legal practitioners of Kolkata

C. British tea and indigo plantation owners in Bengal

D. British Army Officials

Q.
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Sir Ilbert, the law member of the Viceroy’s council prepared a bill in 1883 

during the viceroy ship of Lord Ripon. It suggested allowing the senior Indian 

magistrates to preside over cases involving British personnel in India.



Name the platform used for ritual purposes by the kings of the Vijayanagara Empire:

A. Mahanavami Dibba

B. Lotus Mahal

C. Hazara Rama

D. Virupaksha

Q.
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Name the platform used for ritual purposes by the kings of the Vijayanagara Empire:

A. Mahanavami Dibba

B. Lotus Mahal

C. Hazara Rama

D. Virupaksha

Q.
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Mahanavami Dibba Is A Structure In The Royal Centre Of The 

Vijaynagar Empire. The Name Come From The Shape Of The 

Platform And The Mahanavami Festival Which Was Observed Here.



Which Greek King of Bactria invaded India about 190 B.C.?

A. Demetrius

B. Alexander

C. Seleucus Nicator

D. Menander

Q.
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Which Greek King of Bactria invaded India about 190 B.C.?

A. Demetrius

B. Alexander

C. Seleucus Nicator

D. Menander

Q.

Maha Marathon 1 (GK) - CDS 2 2024 -  Live Class

Demetrius, the king of Bactria invaded India about 190 B.C. And conquered a 

considerable part of the Mauryan Empire in the north-west. Demetrius I or 

known as Dharmamita, was Indo-Greek King, "Yavana" in Sanskrit king who 

invaded India and was the first Greek ruler to convert to Buddhism.



Who was the founder of Aajivak Sampradaya?

A. Puran Kasyapa

B. Makkali Gosala

C. Aryadeva

D. Ajit Keskamblin

Q.
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Who was the founder of Aajivak Sampradaya?

A. Puran Kasyapa

B. Makkali Gosala

C. Aryadeva

D. Ajit Keskamblin

Q.
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Ajivika, an ascetic sect that emerged in India about the same time as 

Buddhism and Jainism and that lasted until the 14th century. It was founded 

by Goshala Maskariputra (also called Gosala Makkhaliputta).



In Maurya empire, province was known as?

A. Chakra

B. Mandal

C. Ahar

D. Vishaya

Q.
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In Maurya empire, province was known as?

A. Chakra

B. Mandal

C. Ahar

D. Vishaya

Q.
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The Mauryan Empire was divided into four provinces with the imperial capital at 

Pataliputra. From Ashokan edicts, the name of the four provincial capitals was Tosali 

(in the east), Ujjain in the west, Suvarnagiri (in the south), and Taxila (in the north).



The Battle of Wandiwash was fought between:

A. British and French companies

B. British and Dutch companies

C. Dutch and Portuguese companies

D. French and Dutch companies

Q.
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The Battle of Wandiwash was fought between:

A. British and French companies

B. British and Dutch companies

C. Dutch and Portuguese companies

D. French and Dutch companies

Q.
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The battle of Wandiwash (22 January 1760) was fought between the British 

and French companies. After making substantial gains in Bengal and 

Hyderabad, the British, were fully equipped to face the French in 

Wandiwash . Thus, they defeated the French comprehensively in this battle.















Marking System in CDS 2 2024 English Paper

• 1 Question = 0.83 marks

• Negative marking = 0.27 marks for every incorrect answer

• Total no. of Questions = 120

• Total no. of Marks = 100 marks



SPOTTING OF ERRORS
Directions: Each item in this section has a sentence with three parts labelled as 

(a), (b) and (c). Read each sentence to find out whether there is any error in any 

underlined part and indicate your response on the Answer Sheet against the 

corresponding letter i.e., (a) or (b) or (c). If you find no error, your response should 

be indicated as (d).
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Q) He is (a)/ residing here (b)/ since 1983. (c)/ No error (d)

Maha Marathon 1 (English) - CDS 2 2024 - Live Class



Q) He is (a)/ residing here (b)/ since 1983. (c)/ No error (d)

Ans. (a)
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Q) At his return (a)/ we asked him (b)/ many questions. (c)/ No error (d)
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Q) At his return (a)/ we asked him (b)/ many questions. (c)/ No error (d)

Ans. (a)
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Q) The chief guest (a)/ entered into (b)/ the room. (c)/ No error (d)
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Q) The chief guest (a)/ entered into (b)/ the room. (c)/ No error (d)

Ans. (b)
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Q) Our success or our failure (a)/ largely depend (b)/ upon our actions. (c)/ No error

(d)
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Q) Our success or our failure (a)/ largely depend (b)/ upon our actions. (c)/ No error

(d)

Ans. (b)
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Q) The poor man (a)/ poisoned him (b)/ and his own children. (c)/ No error (d)
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Q) The poor man (a)/ poisoned him (b)/ and his own children. (c)/ No error (d)

Ans. (b)
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ANTONYMS
Directions: Each item in this section consists of sentences with an underlined 

word followed by four words or group of words. Select the option that is opposite 

in meaning to the underlined word and mark your response on the Answer Sheet 

accordingly.
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Q) I was not regarded as a dunce at the high school.

(a) clever

(b) timid

(c) stupid

(d) introvert
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Q) I was not regarded as a dunce at the high school.

(a) clever

(b) timid

(c) stupid

(d) introvert

Ans. (a)

Maha Marathon 1 (English) - CDS 2 2024 - Live Class



Q) She had a malignant tumour.

(a) benign

(b) nasty

(c) benevolent

(d) painless
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Q) She had a malignant tumour.

(a) benign

(b) nasty

(c) benevolent

(d) painless

Ans. (c)
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Q) He hates these continual arguments with friends.

(a) repeated

(b) irrational

(c) occasional

(d) regular
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Q) He hates these continual arguments with friends.

(a) repeated

(b) irrational

(c) occasional

(d) regular

Ans. (c)
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Q) He was conspicuous because of his colourful shirt.

(a) charming

(b) ugly

(c) small

(d) unnoticeable
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Q) He was conspicuous because of his colourful shirt.

(a) charming

(b) ugly

(c) small

(d) unnoticeable

Ans. (d)
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Q) These are the main points of the preceding paragraph.

(a) following

(b) previous

(c) first

(d) last
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Q) These are the main points of the preceding paragraph.

(a) following

(b) previous

(c) first

(d) last

Ans. (a)
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SYNONYMS
Directions: Each item in this section consists of sentences with an underlined 

word followed by four words or group of words. Select the option that is similar in 

meaning to the underlined word and mark your response on the Answer Sheet 

accordingly.
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Q) Ignoring something will not make it go away; you must see a doctor for that pain

in your chest.

(a) taking an interest in

(b) looking closely at

(c) studying the causes of

(d) paying no attention to
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Q) Ignoring something will not make it go away; you must see a doctor for that pain

in your chest.

(a) taking an interest in

(b) looking closely at

(c) studying the causes of

(d) paying no attention to

Ans. (d)
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Q) I do not want to suggest by this criticism that there is something fundamentally

wrong with your argument.

(a) conceal

(b) claim

(c) assume

(d) imply
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Q) I do not want to suggest by this criticism that there is something fundamentally

wrong with your argument.

(a) conceal

(b) claim

(c) assume

(d) imply

Ans. (d)
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Q) The man felt ashamed because he knew that he had been wrong to steal.

(a) guilty

(b) worried

(c) tempted

(d) phony
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Q) The man felt ashamed because he knew that he had been wrong to steal.

(a) guilty

(b) worried

(c) tempted

(d) phony

Ans. (a)
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Q) Most wealthy men of our day are known to have been born in humble homes.

(a) poverty-stricken

(b) modest

(c) promising

(d) merry
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Q) Most wealthy men of our day are known to have been born in humble homes.

(a) poverty-stricken

(b) modest

(c) promising

(d) merry

Ans. (b)
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Q) Most meat-eating animals use their teeth to seize and kill prey.

(a) attackers

(b) enemies

(c) victims

(d) carcass
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Q) Most meat-eating animals use their teeth to seize and kill prey.

(a) attackers

(b) enemies

(c) victims

(d) carcass

Ans. (c)
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IDIOMS AND PHRASES

Directions: Given below are some idioms/ phrases followed by four alternative 

meanings to each. Choose the response (a), (b), (c) or (d) which is the most 

appropriate expression and mark your response in the Answer Sheet accordingly.
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Q) No love lost

(a) Close friendship

(b) Intense dislike

(c) A love-hate relationship

(d) Cool indifference
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Q) No love lost

(a) Close friendship

(b) Intense dislike

(c) A love-hate relationship

(d) Cool indifference

Ans. (b)
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Q) Spill the beans

(a) To tell people secret information

(b) To show disapproval

(c) don’t have much experience of life

(d) Very easy to do
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Q) Spill the beans

(a) To tell people secret information

(b) To show disapproval

(c) don’t have much experience of life

(d) Very easy to do

Ans. (a)
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Q) The year dot

(a) A year gap

(b) Somebody superior

(c) A long time ago

(d) To behave recklessly
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Q) The year dot

(a) A year gap

(b) Somebody superior

(c) A long time ago

(d) To behave recklessly

Ans. (c)
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Q) Get cracking

(a) To have nothing to do

(b) To start doing something

(c) Keep talking about something

(d) died

Maha Marathon 1 (English) - CDS 2 2024 - Live Class



Q) Get cracking

(a) To have nothing to do

(b) To start doing something

(c) Keep talking about something

(d) died

Ans. (b)
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Q) Heads will roll

(a) To be agile

(b) Dancing a lot

(c) People punished for something has happened

(d) Being stupid
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Q) Heads will roll

(a) To be agile

(b) Dancing a lot

(c) People punished for something has happened

(d) Being stupid

Ans. (c)

Maha Marathon 1 (English) - CDS 2 2024 - Live Class



FILL IN THE BLANKS
Directions: In the following questions, the sentence given with blank to be filled in 

with an appropriate word. Select the correct alternative out of the four and 

indicate it by selecting the appropriate option.
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Q) __________ an old legend King Shri Ram lived in India.

(a) In the event of

(b) Due to

(c) According to

(d) In reference to
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Q) __________ an old legend King Shri Ram lived in India.

(a) In the event of

(b) Due to

(c) According to

(d) In reference to

Ans. (c)
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Q) __________ weight gain or weight loss is not good for your body.

(a) Explosive

(b) Expressive

(c) Extensive

(d) Excessive
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Q) __________ weight gain or weight loss is not good for your body.

(a) Explosive

(b) Expressive

(c) Extensive

(d) Excessive

Ans. (d)
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Q) John must have the ____________ to stick to his diet, if he wants to lose weight.

(a) obstinacy

(b) determination

(c) decision

(d) obligation
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Q) John must have the ____________ to stick to his diet, if he wants to lose weight.

(a) obstinacy

(b) determination

(c) decision

(d) obligation

Ans. (b)
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Q) There was an ___________ response for the marathon.

(a) overwhelming

(b) overriding

(c) excessive

(d) extreme
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Q) There was an ___________ response for the marathon.

(a) overwhelming

(b) overriding

(c) excessive

(d) extreme

Ans. (a)
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Q) Some animals have unique ____________ that allow them to survive in extreme

weather conditions.

(a) characteristics

(b) problems

(c) feelings

(d) conditions
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Q) Some animals have unique ____________ that allow them to survive in extreme

weather conditions.

(a) characteristics

(b) problems

(c) feelings

(d) conditions

Ans. (a)
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CLOZE COMPREHENSION

Directions: In the following passage some of the words have been left out. Read the 

passage carefully and choose the correct out of four alternatives.

Maha Marathon 1 (English) - CDS 2 2024 - Live Class



In a survey …(1)… by a library, it was recently …(2)… that parents wish their children
to read books with high moral …(3)…. Around two thousand parents were
interviewed and most of them …(4)…. Dickens ‘The Christmas Carol’ as a must-read
for children. This Christmas tale …(5)… the filthy rich but …(6)… Scrooge and the
poor but contented Cratchit family offers lessons in moral duties. Another book
which many parents marked out as a …(7)… read was Austen’s ‘Pride and Prejudice’.
The choice of the book was rather …(8)…, because, this romantic novel is more likely
to …(9)… teenagers, than children. Since, Elizabeth’s final choice of Darcy is deeply
rooted in strong moral …(10)…, the parents, probably thought, she offers a good
example for the girl child to follow.

Q1) (a) circulated (b) maintained (c) conducted (d) employed
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In a survey …(1)… by a library, it was recently …(2)… that parents wish their children
to read books with high moral …(3)…. Around two thousand parents were
interviewed and most of them …(4)…. Dickens ‘The Christmas Carol’ as a must-read
for children. This Christmas tale …(5)… the filthy rich but …(6)… Scrooge and the
poor but contented Cratchit family offers lessons in moral duties. Another book
which many parents marked out as a …(7)… read was Austen’s ‘Pride and Prejudice’.
The choice of the book was rather …(8)…, because, this romantic novel is more likely
to …(9)… teenagers, than children. Since, Elizabeth’s final choice of Darcy is deeply
rooted in strong moral …(10)…, the parents, probably thought, she offers a good
example for the girl child to follow.

Q1) (a) circulated (b) maintained (c) conducted (d) employed
Ans. (c)
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In a survey …(1)… by a library, it was recently …(2)… that parents wish their children
to read books with high moral …(3)…. Around two thousand parents were
interviewed and most of them …(4)…. Dickens ‘The Christmas Carol’ as a must-read
for children. This Christmas tale …(5)… the filthy rich but …(6)… Scrooge and the
poor but contented Cratchit family offers lessons in moral duties. Another book
which many parents marked out as a …(7)… read was Austen’s ‘Pride and Prejudice’.
The choice of the book was rather …(8)…, because, this romantic novel is more likely
to …(9)… teenagers, than children. Since, Elizabeth’s final choice of Darcy is deeply
rooted in strong moral …(10)…, the parents, probably thought, she offers a good
example for the girl child to follow.

Q2) (a) revealed (b) concurred (c) inferred (d) exposed
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In a survey …(1)… by a library, it was recently …(2)… that parents wish their children
to read books with high moral …(3)…. Around two thousand parents were
interviewed and most of them …(4)…. Dickens ‘The Christmas Carol’ as a must-read
for children. This Christmas tale …(5)… the filthy rich but …(6)… Scrooge and the
poor but contented Cratchit family offers lessons in moral duties. Another book
which many parents marked out as a …(7)… read was Austen’s ‘Pride and Prejudice’.
The choice of the book was rather …(8)…, because, this romantic novel is more likely
to …(9)… teenagers, than children. Since, Elizabeth’s final choice of Darcy is deeply
rooted in strong moral …(10)…, the parents, probably thought, she offers a good
example for the girl child to follow.

Q2) (a) revealed (b) concurred (c) inferred (d) exposed
Ans. (a)

Maha Marathon 1 (English) - CDS 2 2024 - Live Class



In a survey …(1)… by a library, it was recently …(2)… that parents wish their children
to read books with high moral …(3)…. Around two thousand parents were
interviewed and most of them …(4)…. Dickens ‘The Christmas Carol’ as a must-read
for children. This Christmas tale …(5)… the filthy rich but …(6)… Scrooge and the
poor but contented Cratchit family offers lessons in moral duties. Another book
which many parents marked out as a …(7)… read was Austen’s ‘Pride and Prejudice’.
The choice of the book was rather …(8)…, because, this romantic novel is more likely
to …(9)… teenagers, than children. Since, Elizabeth’s final choice of Darcy is deeply
rooted in strong moral …(10)…, the parents, probably thought, she offers a good
example for the girl child to follow.

Q3) (a) dilemma (b) deliberation (c) ground (d) content
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In a survey …(1)… by a library, it was recently …(2)… that parents wish their children
to read books with high moral …(3)…. Around two thousand parents were
interviewed and most of them …(4)…. Dickens ‘The Christmas Carol’ as a must-read
for children. This Christmas tale …(5)… the filthy rich but …(6)… Scrooge and the
poor but contented Cratchit family offers lessons in moral duties. Another book
which many parents marked out as a …(7)… read was Austen’s ‘Pride and Prejudice’.
The choice of the book was rather …(8)…, because, this romantic novel is more likely
to …(9)… teenagers, than children. Since, Elizabeth’s final choice of Darcy is deeply
rooted in strong moral …(10)…, the parents, probably thought, she offers a good
example for the girl child to follow.

Q3) (a) dilemma (b) deliberation (c) ground (d) content
Ans. (d)
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In a survey …(1)… by a library, it was recently …(2)… that parents wish their children
to read books with high moral …(3)…. Around two thousand parents were
interviewed and most of them …(4)…. Dickens ‘The Christmas Carol’ as a must-read
for children. This Christmas tale …(5)… the filthy rich but …(6)… Scrooge and the
poor but contented Cratchit family offers lessons in moral duties. Another book
which many parents marked out as a …(7)… read was Austen’s ‘Pride and Prejudice’.
The choice of the book was rather …(8)…, because, this romantic novel is more likely
to …(9)… teenagers, than children. Since, Elizabeth’s final choice of Darcy is deeply
rooted in strong moral …(10)…, the parents, probably thought, she offers a good
example for the girl child to follow.

Q4) (a) recommended (b) restored (c) revised (d) remarked
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In a survey …(1)… by a library, it was recently …(2)… that parents wish their children
to read books with high moral …(3)…. Around two thousand parents were
interviewed and most of them …(4)…. Dickens ‘The Christmas Carol’ as a must-read
for children. This Christmas tale …(5)… the filthy rich but …(6)… Scrooge and the
poor but contented Cratchit family offers lessons in moral duties. Another book
which many parents marked out as a …(7)… read was Austen’s ‘Pride and Prejudice’.
The choice of the book was rather …(8)…, because, this romantic novel is more likely
to …(9)… teenagers, than children. Since, Elizabeth’s final choice of Darcy is deeply
rooted in strong moral …(10)…, the parents, probably thought, she offers a good
example for the girl child to follow.

Q4) (a) recommended (b) restored (c) revised (d) remarked
Ans. (a)
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In a survey …(1)… by a library, it was recently …(2)… that parents wish their children
to read books with high moral …(3)…. Around two thousand parents were
interviewed and most of them …(4)…. Dickens ‘The Christmas Carol’ as a must-read
for children. This Christmas tale …(5)… the filthy rich but …(6)… Scrooge and the
poor but contented Cratchit family offers lessons in moral duties. Another book
which many parents marked out as a …(7)… read was Austen’s ‘Pride and Prejudice’.
The choice of the book was rather …(8)…, because, this romantic novel is more likely
to …(9)… teenagers, than children. Since, Elizabeth’s final choice of Darcy is deeply
rooted in strong moral …(10)…, the parents, probably thought, she offers a good
example for the girl child to follow.

Q5) (a) devolving (b) employing (c) revolving (d) involving
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In a survey …(1)… by a library, it was recently …(2)… that parents wish their children
to read books with high moral …(3)…. Around two thousand parents were
interviewed and most of them …(4)…. Dickens ‘The Christmas Carol’ as a must-read
for children. This Christmas tale …(5)… the filthy rich but …(6)… Scrooge and the
poor but contented Cratchit family offers lessons in moral duties. Another book
which many parents marked out as a …(7)… read was Austen’s ‘Pride and Prejudice’.
The choice of the book was rather …(8)…, because, this romantic novel is more likely
to …(9)… teenagers, than children. Since, Elizabeth’s final choice of Darcy is deeply
rooted in strong moral …(10)…, the parents, probably thought, she offers a good
example for the girl child to follow.

Q5) (a) devolving (b) employing (c) revolving (d) involving
Ans. (d)
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In a survey …(1)… by a library, it was recently …(2)… that parents wish their children
to read books with high moral …(3)…. Around two thousand parents were
interviewed and most of them …(4)…. Dickens ‘The Christmas Carol’ as a must-read
for children. This Christmas tale …(5)… the filthy rich but …(6)… Scrooge and the
poor but contented Cratchit family offers lessons in moral duties. Another book
which many parents marked out as a …(7)… read was Austen’s ‘Pride and Prejudice’.
The choice of the book was rather …(8)…, because, this romantic novel is more likely
to …(9)… teenagers, than children. Since, Elizabeth’s final choice of Darcy is deeply
rooted in strong moral …(10)…, the parents, probably thought, she offers a good
example for the girl child to follow.

Q6) (a) finicky (b) fastidious (c) fussy (d) stingy
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In a survey …(1)… by a library, it was recently …(2)… that parents wish their children
to read books with high moral …(3)…. Around two thousand parents were
interviewed and most of them …(4)…. Dickens ‘The Christmas Carol’ as a must-read
for children. This Christmas tale …(5)… the filthy rich but …(6)… Scrooge and the
poor but contented Cratchit family offers lessons in moral duties. Another book
which many parents marked out as a …(7)… read was Austen’s ‘Pride and Prejudice’.
The choice of the book was rather …(8)…, because, this romantic novel is more likely
to …(9)… teenagers, than children. Since, Elizabeth’s final choice of Darcy is deeply
rooted in strong moral …(10)…, the parents, probably thought, she offers a good
example for the girl child to follow.

Q6) (a) finicky (b) fastidious (c) fussy (d) stingy
Ans. (a)
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In a survey …(1)… by a library, it was recently …(2)… that parents wish their children
to read books with high moral …(3)…. Around two thousand parents were
interviewed and most of them …(4)…. Dickens ‘The Christmas Carol’ as a must-read
for children. This Christmas tale …(5)… the filthy rich but …(6)… Scrooge and the
poor but contented Cratchit family offers lessons in moral duties. Another book
which many parents marked out as a …(7)… read was Austen’s ‘Pride and Prejudice’.
The choice of the book was rather …(8)…, because, this romantic novel is more likely
to …(9)… teenagers, than children. Since, Elizabeth’s final choice of Darcy is deeply
rooted in strong moral …(10)…, the parents, probably thought, she offers a good
example for the girl child to follow.

Q7) (a) mandatory (b) reconciliatory (c) conclusive (d) credible
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In a survey …(1)… by a library, it was recently …(2)… that parents wish their children
to read books with high moral …(3)…. Around two thousand parents were
interviewed and most of them …(4)…. Dickens ‘The Christmas Carol’ as a must-read
for children. This Christmas tale …(5)… the filthy rich but …(6)… Scrooge and the
poor but contented Cratchit family offers lessons in moral duties. Another book
which many parents marked out as a …(7)… read was Austen’s ‘Pride and Prejudice’.
The choice of the book was rather …(8)…, because, this romantic novel is more likely
to …(9)… teenagers, than children. Since, Elizabeth’s final choice of Darcy is deeply
rooted in strong moral …(10)…, the parents, probably thought, she offers a good
example for the girl child to follow.

Q7) (a) mandatory (b) reconciliatory (c) conclusive (d) credible
Ans. (a)
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In a survey …(1)… by a library, it was recently …(2)… that parents wish their children
to read books with high moral …(3)…. Around two thousand parents were
interviewed and most of them …(4)…. Dickens ‘The Christmas Carol’ as a must-read
for children. This Christmas tale …(5)… the filthy rich but …(6)… Scrooge and the
poor but contented Cratchit family offers lessons in moral duties. Another book
which many parents marked out as a …(7)… read was Austen’s ‘Pride and Prejudice’.
The choice of the book was rather …(8)…, because, this romantic novel is more likely
to …(9)… teenagers, than children. Since, Elizabeth’s final choice of Darcy is deeply
rooted in strong moral …(10)…, the parents, probably thought, she offers a good
example for the girl child to follow.

Q8) (a) unexpected (b) unfortunate (c) unsuspected (d) unnerving
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In a survey …(1)… by a library, it was recently …(2)… that parents wish their children
to read books with high moral …(3)…. Around two thousand parents were
interviewed and most of them …(4)…. Dickens ‘The Christmas Carol’ as a must-read
for children. This Christmas tale …(5)… the filthy rich but …(6)… Scrooge and the
poor but contented Cratchit family offers lessons in moral duties. Another book
which many parents marked out as a …(7)… read was Austen’s ‘Pride and Prejudice’.
The choice of the book was rather …(8)…, because, this romantic novel is more likely
to …(9)… teenagers, than children. Since, Elizabeth’s final choice of Darcy is deeply
rooted in strong moral …(10)…, the parents, probably thought, she offers a good
example for the girl child to follow.

Q8) (a) unexpected (b) unfortunate (c) unsuspected (d) unnerving
Ans. (a)
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In a survey …(1)… by a library, it was recently …(2)… that parents wish their children
to read books with high moral …(3)…. Around two thousand parents were
interviewed and most of them …(4)…. Dickens ‘The Christmas Carol’ as a must-read
for children. This Christmas tale …(5)… the filthy rich but …(6)… Scrooge and the
poor but contented Cratchit family offers lessons in moral duties. Another book
which many parents marked out as a …(7)… read was Austen’s ‘Pride and Prejudice’.
The choice of the book was rather …(8)…, because, this romantic novel is more likely
to …(9)… teenagers, than children. Since, Elizabeth’s final choice of Darcy is deeply
rooted in strong moral …(10)…, the parents, probably thought, she offers a good
example for the girl child to follow.

Q9) (a) repulse (b) distract (c) attract (d) presume
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In a survey …(1)… by a library, it was recently …(2)… that parents wish their children
to read books with high moral …(3)…. Around two thousand parents were
interviewed and most of them …(4)…. Dickens ‘The Christmas Carol’ as a must-read
for children. This Christmas tale …(5)… the filthy rich but …(6)… Scrooge and the
poor but contented Cratchit family offers lessons in moral duties. Another book
which many parents marked out as a …(7)… read was Austen’s ‘Pride and Prejudice’.
The choice of the book was rather …(8)…, because, this romantic novel is more likely
to …(9)… teenagers, than children. Since, Elizabeth’s final choice of Darcy is deeply
rooted in strong moral …(10)…, the parents, probably thought, she offers a good
example for the girl child to follow.

Q9) (a) repulse (b) distract (c) attract (d) presume
Ans. (c)
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In a survey …(1)… by a library, it was recently …(2)… that parents wish their children
to read books with high moral …(3)…. Around two thousand parents were
interviewed and most of them …(4)…. Dickens ‘The Christmas Carol’ as a must-read
for children. This Christmas tale …(5)… the filthy rich but …(6)… Scrooge and the
poor but contented Cratchit family offers lessons in moral duties. Another book
which many parents marked out as a …(7)… read was Austen’s ‘Pride and Prejudice’.
The choice of the book was rather …(8)…, because, this romantic novel is more likely
to …(9)… teenagers, than children. Since, Elizabeth’s final choice of Darcy is deeply
rooted in strong moral …(10)…, the parents, probably thought, she offers a good
example for the girl child to follow.

Q10) (a) discomfort (b) considerations (c) disturbances (d) dilemma
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In a survey …(1)… by a library, it was recently …(2)… that parents wish their children
to read books with high moral …(3)…. Around two thousand parents were
interviewed and most of them …(4)…. Dickens ‘The Christmas Carol’ as a must-read
for children. This Christmas tale …(5)… the filthy rich but …(6)… Scrooge and the
poor but contented Cratchit family offers lessons in moral duties. Another book
which many parents marked out as a …(7)… read was Austen’s ‘Pride and Prejudice’.
The choice of the book was rather …(8)…, because, this romantic novel is more likely
to …(9)… teenagers, than children. Since, Elizabeth’s final choice of Darcy is deeply
rooted in strong moral …(10)…, the parents, probably thought, she offers a good
example for the girl child to follow.

Q10) (a) discomfort (b) considerations (c) disturbances (d) dilemma
Ans. (b)
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ORDERING OF WORDS IN A SENTENCE

Directions: Each of the following items in this section consists of a sentence, parts of 

which have been jumbled. These parts have been labelled as P, Q, R and S. There are 

four sequences, namely (a), (b), (c) and (d). You are required to re-arrange the 

jumbled parts of the sentence and mark your response accordingly.
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must support the main part the beginning and the concluding lines

P Q

described in the story or the events

R S

(a) QSRP (b) QPSR (c) RSQP (d) SRQP

Q)
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must support the main part the beginning and the concluding lines

P Q

described in the story or the events

R S

(a) QSRP (b) QPSR (c) RSQP (d) SRQP

Ans. (b)

Q)
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is being systematically damaged our beautiful riverine ecosystem

P Q

by industrial pollution channelled into rivers

R S

(a) RSPQ (b) PQRS (c) QPRS (d) SRQP

Q)
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is being systematically damaged our beautiful riverine ecosystem

P Q

by industrial pollution channelled into rivers

R S

(a) RSPQ (b) PQRS (c) QPRS (d) SRQP

Ans. (c)

Q)
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the film industry due to nearness to the viewers

P Q

its ready availability and the television screen is challenging

R S

(a) QRPS (b) SPRQ (c) SQRP (d) RSPQ

Q)
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the film industry due to nearness to the viewers

P Q

its ready availability and the television screen is challenging

R S

(a) QRPS (b) SPRQ (c) SQRP (d) RSPQ

Ans. (b)

Q)
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they built an Artificial Intelligence system researchers say that

P Q

makes ethical judgments that like humans

R S

(a) QPSR (b) PSRQ (c) QRSP (d) PRSQ

Q)
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they built an Artificial Intelligence system researchers say that

P Q

makes ethical judgments that like humans

R S

(a) QPSR (b) PSRQ (c) QRSP (d) PRSQ

Ans. (a)

Q)
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he is a fool, it is that others think intelligently it is not that

P Q R

he does not think

S

(a) PSQR (b) RPSQ (c) QRSP (d) SRPQ

Q)
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he is a fool, it is that others think intelligently it is not that

P Q R

he does not think

S

(a) PSQR (b) RPSQ (c) QRSP (d) SRPQ

Ans. (b)

Q)
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ORDERING OF SENTENCES

Directions: In this section each item consists of six sentences of a passage. The first 

and the sixth sentences are given in the beginning as S1 and S6. The middle four 

sentences in each have been jumbled up and labelled as P, Q, R and S. You are 

required to find out the proper sequence of the four sentences and mark your 

response accordingly on Answer Sheet.
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S1: A licensee who wants to surrender his license shall apply in Form X to the licensing
officer.

P: This shall not entitle the licensee to any compensation by way of license fee in any
form.

Q: If the licensing officer is satisfied, he may accept the surrender.

R: The license shall be deemed to have been terminated from the date of such
acceptance.

S: The application shall be accompanied by a declaration of stock in Form V.

S6: The licensee who has surrendered his license shall be allowed to sell the antiquities
declared to another licensee or a recognized museum in India.

(a) PQRS (b) SRQP (c) SQRP (d) SQPR

Q)
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S1: A licensee who wants to surrender his license shall apply in Form X to the licensing
officer.

P: This shall not entitle the licensee to any compensation by way of license fee in any
form.

Q: If the licensing officer is satisfied, he may accept the surrender.

R: The license shall be deemed to have been terminated from the date of such
acceptance.

S: The application shall be accompanied by a declaration of stock in Form V.

S6: The licensee who has surrendered his license shall be allowed to sell the antiquities
declared to another licensee or a recognized museum in India.

(a) PQRS (b) SRQP (c) SQRP (d) SQPR

Ans. (c)

Q)
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S1: Wind power is an inexhaustible source of clean energy.

P: During the last decade, power production from the wind increased more than 25%.

Q: Although the cost of electrical energy produced by the wind depends on favourable
sites for the location of wind turbines, wind power is already cost competitive with
power produced from fossil fuels.

R: Much of the growth was in Europe, where most of the world’s 17,000 megawatts of
wind power is generated.

S: One expert calls wind generation the fastest growing electricity producing
technology in the world.

S6: As examples, 13% of Denmark's power and more than 20% of power in the
Netherlands, Spain and Germany is supplied by the wind.

(a) PQRS (b) SRPQ (c) QSPR (d) RPSQ

Q)
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S1: Wind power is an inexhaustible source of clean energy.

P: During the last decade, power production from the wind increased more than 25%.

Q: Although the cost of electrical energy produced by the wind depends on favourable
sites for the location of wind turbines, wind power is already cost competitive with
power produced from fossil fuels.

R: Much of the growth was in Europe, where most of the world’s 17,000 megawatts of
wind power is generated.

S: One expert calls wind generation the fastest growing electricity producing
technology in the world.

S6: As examples, 13% of Denmark's power and more than 20% of power in the
Netherlands, Spain and Germany is supplied by the wind.

(a) PQRS (b) SRPQ (c) QSPR (d) RPSQ

Ans. (c)

Q)
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S1: He resisted colonial education not just because it came from the West.

P: Essentially, he disliked its inherent elitism, its irrelevance as far as the needs of
India's rural masses were concerned.

Q: For example, it was difficult for him to accept English as the medium of instruction,
because he felt that it has created a permanent bar between the highly educated few
and the uneducated many.

R: Moreover, with his profound pedagogic sensitivity he could see the damaging effect
of colonial education.

S: He also felt that English made one a stranger in one’s own land.

S6: Besides, with this kind of education, one could not appreciate the dignity of manual
labour.

(a) PRQS (b) SQPR (c) PQRS (d) QRSP

Q)
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S1: He resisted colonial education not just because it came from the West.

P: Essentially, he disliked its inherent elitism, its irrelevance as far as the needs of
India's rural masses were concerned.

Q: For example, it was difficult for him to accept English as the medium of instruction,
because he felt that it has created a permanent bar between the highly educated few
and the uneducated many.

R: Moreover, with his profound pedagogic sensitivity he could see the damaging effect
of colonial education.

S: He also felt that English made one a stranger in one’s own land.

S6: Besides, with this kind of education, one could not appreciate the dignity of manual
labour.

(a) PRQS (b) SQPR (c) PQRS (d) QRSP

Ans. (a)

Q)
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S1: Historians have often explained religious and social reform in India in the
nineteenth century as a result of the Western impact upon the minds of men.

P: With that purpose, we seek to analyse the thoughts and activities of individuals who
were both religious reformers and vernacular publicists.

Q: The equation of westernisation and modernization has given way to a search for the
indigenous sources of social changes.

R: Recognising the modernity of tradition is one thing however, whereas understanding
the intellectual processes that produced indigenously generated change is another.

S: Others have recognised that this was entirely too simple an explanation for the
intellectual and social changes that took place in India and other places that fell under
the foreign colonial rule.

S6: Each of these vernacular-using reformers derived his arguments from within his
own tradition.

(a) QRSP (b) RQPS (c) SQRP (d) SPRQ

Q)
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S1: Historians have often explained religious and social reform in India in the
nineteenth century as a result of the Western impact upon the minds of men.

P: With that purpose, we seek to analyse the thoughts and activities of individuals who
were both religious reformers and vernacular publicists.

Q: The equation of westernisation and modernization has given way to a search for the
indigenous sources of social changes.

R: Recognising the modernity of tradition is one thing however, whereas understanding
the intellectual processes that produced indigenously generated change is another.

S: Others have recognised that this was entirely too simple an explanation for the
intellectual and social changes that took place in India and other places that fell under
the foreign colonial rule.

S6: Each of these vernacular-using reformers derived his arguments from within his
own tradition.

(a) QRSP (b) RQPS (c) SQRP (d) SPRQ

Ans. (c)

Q)
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S1: The Indian co-operative movement is probably one of the largest, strongest and the
oldest in the world with widespread spatial coverage, diversified business activities and
ample success stories.

P: It has celebrated its Centenary very recently.

Q: It is structured around the Rochdale Principles and Raiffeisen Model in wake of
miseries of peasantry.

R: It is termed as the “economic miracle” of the last century.

S: Ever since the officially sponsored Act of 1904, the Movement has passed through a
number of phases.

S6: Co-operatives have been organised in areas like credit, marketing, distribution,
dairy development, industry, sugar and so on.

(a) QRPS (b) RPQS (c) PQRS (d) SQRP

Q)
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S1: The Indian co-operative movement is probably one of the largest, strongest and the
oldest in the world with widespread spatial coverage, diversified business activities and
ample success stories.

P: It has celebrated its Centenary very recently.

Q: It is structured around the Rochdale Principles and Raiffeisen Model in wake of
miseries of peasantry.

R: It is termed as the “economic miracle” of the last century.

S: Ever since the officially sponsored Act of 1904, the Movement has passed through a
number of phases.

S6: Co-operatives have been organised in areas like credit, marketing, distribution,
dairy development, industry, sugar and so on.

(a) QRPS (b) RPQS (c) PQRS (d) SQRP

Ans. (a)

Q)
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COMPREHENSION
Directions: In this section you have a short passage. After the passage, you will 

find some items based on the passage. First, read the passage and answer the 

items based on it. You are required to select your answers based on the contents 

of the passage and opinion of the author only.
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Among the major objectives of the Glasgow Summit was to frame the foundation
of an international carbon trading system listed in the Paris Agreement to achieve
the target of net zero emissions by 2050. It would enable nations to transfer
credits to each other and offset their emission targets. Critics of the trading
system, and there are many, say it would give leeway to developed countries and
companies that are highly polluting to stave off making deeper cuts in their low
emissions by buying credits from poorer countries at exploitative prices.

There are also major differences over whether the new trading system will
recognize historical emissions permitted under earlier protocols. Others want rules
that permit double credits for the nation funding a particular carbon reducing
project, such as the regeneration of forests to act as a carbon sink, and for the
country implementing it. A third issue is whether a share of the revenue from such
a bilateral trading agreement will go toward the UN's Adaptation Fund. There have
also been concerns about the integrity of the accounting system for such credits.
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Q) What is ‘international carbon trading system’ here?

(a) Counting carbon emissions by poor countries

(b) A system of counting carbons every year

(c) The exchange of carbon credits between nations

(d) Counting how developed countries evade accountability

Maha Marathon 1 (English) - CDS 2 2024 - Live Class



Q) What is ‘international carbon trading system’ here?

(a) Counting carbon emissions by poor countries

(b) A system of counting carbons every year

(c) The exchange of carbon credits between nations

(d) Counting how developed countries evade accountability

Ans. (c)
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Q) What is the third issue being mentioned in the context of ‘share of the

revenue’?

(a) The revenue may not be shared with UN's adaptation fund.

(b) Developed countries would take the revenue from bilateral trading

agreements.

(c) Poor countries will have to shoulder the major responsibilities.

(d) Accounting system will be in the hands of developed countries.
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Q) What is the third issue being mentioned in the context of ‘share of the

revenue’?

(a) The revenue may not be shared with UN's adaptation fund.

(b) Developed countries would take the revenue from bilateral trading

agreements.

(c) Poor countries will have to shoulder the major responsibilities.

(d) Accounting system will be in the hands of developed countries.

Ans. (a)
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Q) ‘… forests to act as a carbon sink’ means?

(a) Forests reduce carbon emission.

(b) Depletion of forest cover adds to carbon emission.

(c) Forests cannot reduce carbon emission.

(d) Forests can improve the environment.
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Q) ‘… forests to act as a carbon sink’ means?

(a) Forests reduce carbon emission.

(b) Depletion of forest cover adds to carbon emission.

(c) Forests cannot reduce carbon emission.

(d) Forests can improve the environment.

Ans. (a)
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Q) What is the concern about the integrity of the accounting system?

(a) Developed countries and companies would not be adhering to the credit
system.

(b) Developed countries and companies would be adhering to the credit
system.

(c) Poor countries would not be adhering to the credit system on carbon
emission.

(d) Poor countries would be adhering to the credit system on carbon emission.
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Q) What is the concern about the integrity of the accounting system?

(a) Developed countries and companies would not be adhering to the credit
system.

(b) Developed countries and companies would be adhering to the credit
system.

(c) Poor countries would not be adhering to the credit system on carbon
emission.

(d) Poor countries would be adhering to the credit system on carbon emission.

Ans. (a)
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Q) Which of the following words is nearer to the meaning of the word ‘protocol’ in

the text?

(a) final truth

(b) school of thought

(c) formal ways of doing something

(d) meeting the target of 100%
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Q) Which of the following words is nearer to the meaning of the word ‘protocol’ in

the text?

(a) final truth

(b) school of thought

(c) formal ways of doing something

(d) meeting the target of 100%

Ans. (c)
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